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J& 3Z : The revisionist interpretation, which I support, does not enshrine dinosaurs
as paragons of intellect, but it does maintain that they were not small brained after all.
They had the “right-sized” brains for reptiles of their body size.
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50 H : According to the passage, what is the revisionist interpretation concerning
the relationship between intelligence and physical size?

A. Dinosaurs actually had relatively large brains.

B. Dinosaurs were paragons of intellect.

C. Dinosaurs were relatively small brained.

D. Dinosaurs’ brains were appropriately sized.

EXR:D

SrHT . A O EAR A SCRE A B Y [R] UG e e Ak K right-sized B0 N
appropriately sized. @& T IE#ME . 1l A EI0K H M S A relatively large, A £ .
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J& 3 : Government is so technical that even career civil servants cannot explain
what is happening. In 1978 I attended a seminar on federal estate and gift tax, where
the Internal Revenue Service lawyers responsible for this area frankly confessed that
they did not understand the Tax Reform Act of 1976.

B BUNRMBEHWABRARASRUZETEZEAF ABARERIEALEENA.
1978 47, R K T — AN BRI FE = Bl OF ) <, 763X B 97 93 19 35 [ B 9 WA 8 1 U 3
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& H : The author uses the description of the tax seminar in 1978 to make the point
that some governmental issues are:

A. so technical that not even career civil servants can understand them

B. so technical that only career civil servants can understand them

C. more technical than they used to be before the passage of the Tax Reform Act

D. too technical for anyone other than an Internal Revenue Service tax lawyer

to understand
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JE X : The remarkable thing about dinosaurs is not that they became extinct, but
that they dominated the earth for so long. People, on this criterion, are scarcely worth
mentioning—>5 million years perhaps since Australopithecus, a mere 50,000 for our own

species, Homo sapiens.

B BREELN —FFEEARMAT KL T, iR AT &8 T R A e 2 K
). AR AEXFARMET MRAREN —R— KM S A HERR M H R AULS T
ERTHRATA C R A.
ZH: In the context of the passage, what does the author mean when he states
that “people. . . are scarcely worth mentioning” (lines 81 — 82)7?
A. Compared to the complex social behavior of dinosaurs, human behavior seems
simple.
B. Compared to the longevity of dinosaurs, humans have been on earth a very short
time.
C. Compared to the size of dinosaurs, human seem incredibly small.
D. Compared to the amount of study done on dinosaurs, study of human behavior is
severely lacking.
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Test 1

. Around 700 B.C. , iron-working, a revolutionary new skill, was brought to Britain by

A. Mesolithic peoples B. Stone Age peoples
C. Bronze Age peoples D. Celtic peoples

. The official name of the United Kingdom is

A. England,Scotland, Wales and Northern Ireland

B. The United Kingdom of Great Britain and Northern Ireland
C. The United Kingdom of Great Britain

D. Great Britain and Northern Ireland

. The earliest known ancestors of Scots and Welsh were

A. the Picts B. the Romans C. the Vikings D. the Germans

. The following are famous Scottish writers except

A. Robert Burns B. Sir Walter Scott
C. Bernard Shaw D. Robert Louis Stevenson

. Before a rugby match starts,it is traditional the Welsh supporters to sing ’

an old song that almost become a national anthem for Wales.

A. Land of My Fathers B. Auld Lang Syne
C. My Fair Country D. God Save the Queen
. The Magna Carta was signed by
A. King John B. Richard the Lion Heart
C. Charles [ D. Oliver Cromwell
. The Gunpowder Plot occurred during the reign of :
A. King Charles | B. Queen Elizabeth |
C. King James | D. King James [I

. The following were characteristics of the Elizabethan age except

A. Queen Elizabeth advocated the Divine Right and quarreled with Parliament
B. Protestantism gradually became dominant faith
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C. This was the age of literature when Shakespeare lived and when English literature
blossomed
D. This was an age of adventure on the sea
9. The name War of Roses was coined by the great 19th century novelist
A. Charles Dickens B. George Eliot
C. Sir Walter Scott D. Emily Bronte
10. James V| of Scotland succeeded Elizabeth | and became James | of England in

A. 1601 B. 1603 C. 1615 D. 1625
11. In the United Kingdom, each Member of Parliament represents a , and
holds his seat during the life of a parliament.
A. constituency B. borough C. county D. shire
12. The Speaker is required to do the following except
A. being impartial
B. abstaining from debating or, as a general rule,voting on a measure
C. making sure that all points of view have a fair hearing
D

. summoning,proroguing and dissolving Parliament

13. is the “supreme governor” of the Church of England.
A. The monarch B. The Archbishop of York
C. The Archbishop of Canterbury D. The Prime Minister
14. The present, British monarch,Queen Elizabeth [[ was crowned in
A. 1926 B. 1947 C. 1952 D. 1953
15. In Britain, ministers are appointed by the Queen on the recommendation of
A. the Archbishop of Canterbury B. the Prime Minister
C. the Speaker D. the Archbishop of York

1. D 2. B 3. A 4. C 5. A 6. A 7. C 8. A 9. C 10. B
11. A 12.D 13. A 14.D 15.B

Test 2

1. Which of the following statement about the nonconformist churches in England is not
true?
A. Non-conformist churches are the churches or sects that have separated from the
established church of England.
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10.

11.

B. Non-conformist churches in England include many Presbyterian organizations,
the Methodist Church and so on.

C. All these sects agree on the essentials of Christianity.

D. All these sects are under the leadership of the archbishop of Canterbury.

. Which of the following statements is not true about the religion in Britain?

A. Today only a minority of people go to any kind of church regularly.

B. Today many people still believe in God and Heaven in a confused sort of way.

C. People who do not go to church are immoral in some way.

D. The general improvement in social conditions and the variety of modern entertainment

have made religion appear rather irrelevant.

. The only non-Christian religion widespread in Britain is that of

A. the Buddhists B. the Muslims C. the Spiritualists D. the Jews

. Which of the following statement about Jesus is not true?

A. He was a Jew who lived in Palestine 2,000 years ago.

B. The things he taught conflicted with orthodox Jewish laws and doctrines.

C. It is believed that he was executed by crucifixion.

D. He rose from the dead and sent his spirit to the hearts of his thirteen apostles to

inspire them to spread his teaching.

. The dominant religion of Britain is

A. Buddhism B. Islam

C. the Anglican Church D. the Orthodox Church
. The *“eleven plus” is the examination taken by children in their

A. infant school B. primary school

C. secondary school D. voluntary school

. The Open University is based in

A. London B. Edinburgh

C. the new town of Milton Keynes D. Cambridge
. The Open University was founded in and began its first courses in

A. 1959; 1960 B. 1969; 1970 C. 1979; 1980 D. 1989; 1990
. Which of the following is a privately funded university in Britain?

A. The University of Cambridge. B. The University of Oxford.

C. The University of Edinburgh. D. The University of Buckingham.
Which of the following schools admit children without reference to their academic
abilities?

A. Comprehensive schools. B. Secondary schools.

C. Independent schools. D. Grammar schools.

The Times in Britain is more sympathetic to the Party.

A. Liberal B. Labor C. Conservative D. both B and C
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12. What is the most important feature of The Times in Britain?

A. extreme caution B. very radical

C. very liberal D. both B and C
13. The Guardian is based in now.

A. Edinburgh B. Cardiff C. London D. Manchester
14. is the most famous of all British newspapers.

A. The Guardian B. The Sun C. The Times D. Daily Mirror
15. The Guardian is favorable to the Party.

A. Liberal B. Labor C. Conservative D. both B and C

3.D 4. D 5. C 6. B 7. C 8. B 9.D 10. A

1. D 2. C
11. C 12. A 13.C 14. C 15. A

Test 3

1. Which of the following cities is not located in the Northeast, U.S.?

A. Houston B. Boston. C. Baltimore. D. Philadelphia.
2. Pearl Harbor, as the base of the Pacific Fleet of the U.S.A. ., is near ;

A. Alaska B. Honolulu C. Denver D. Frankfort
3. The capital of Illinois is .

A. Christchurch B. Auckland C. Wellington D. Springfield
4. The Missouri River joins the Mississippi at the city of :

A. Nashville B. St Louis C. El Paso D. San Antonio
5. The U.S. consisted of states at the time of independence.

A. 50 B. 35 C. 13 D. 15
6. The Second Continental Congress met in Philadelphia in ;

A. 1772 B. 1773 C. 1774 D. 1775
7. The slavery was not legally abolished until

A. 1776 B. 1777 C. 1862 D. 1863
8. was generally regarded as a prelude to the American Revolution.

A. The Stamp Act B. The slavery

C. Alien and Sedition Acts D. The civil rights movement

9. The former Soviet Union was once called as “Evil Empire” by American President

A. John Adams B. Ronald Reagan

C. Andrew Jackson D. Ulysses S. Grant
10. was an outstanding leader of the Civil Rights Movement.
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11.

12.

13.

14.

15.

A. Herbert Hoover B. Mitchell Palmer

C. Martin Luther King D. Louis Sullivan

Which parties are dominating the political scene in the U.S.?

A. the Socialists and the Republicans

B. the Democrats and the Republicans

C. the Democrats and the Labors

D. the Labors and the Republicans

The United States is a state of the dictatorship of the

A. proletariat B. bourgeoisie C. aristocrat D. monarch

The relationship of the American government three branches can be described as:

A. curbs and cooperation B. curbs and balance

C. checks and balances D. checks and cooperation

The American Congress is formed by

A. the House of Commons and the House of Lords

B. the Senate and the House of Lords

C. the House of Commons and the House of Representatives

D. the Senate and the House of Representatives

If the President refuses signing the laws, his “veto” can be overridden by a
in both Houses.

A. two-thirds B. three-fourths C. two-fifths D. three-fifths

L.

11

3. D 4. B 5. C 6. D 7.D 8. A 9. B 10. C

A 2. B
.B 12.B 13.C 14.D 15. A

Test 4

is considered to be an outstanding characteristic of American education,
which can be seen not only in the type, size and control of the institutions, but
educational policies and practices.

A. Uniformity B. Universality C. Diversity D. Monotony
. Higher education in the United States began with the founding of in 1636.
A. MIT B. Yale C. Princeton D. Harvard College
. The system of higher education in the United States has following principal functions
except
A. teaching B. selecting C. research D. public service
. The master’s degree in the United States can normally be earned in year(s)

by students holding a bachelor’s degree in the field of study.
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Al B. 2 C. 2.5 D. 3

5. All American children are offered years of free public education.
A. 12 B. 11 C. 10 D. 9

6. The majority of the Catholics are descendants of immigrants from the following
except
A. Poland B. Britain C. Italy D. Ireland

7. In 1844, the Churches were burnt and 13 people died in rioting that swept
through the city of Philadelphia, Pennsylvania.
A. Catholic B. Episcopal C. Christian D. Methodist

8. 's presidential election victory put to rest the catholic religion as an issue in

national politics.

A. Roosevelt B. John F. Kennedy
C. Bill Clinton D. Lincoln
9. Until the late 19th century, most Jews in America were of origin.
A. British B. Iraqi C. German D. Poland
10. Along with the scientific and economic advance, religious observance in the United
States has
A. degraded B. not changed
C. remained the same D. not declined

11. Steamer was invented by
A. Edward White
C. Benjamin Franklin D. Robert Fulton

12. The inventor of the telegraph codes was

&

Thomas Edison

A. John Stevens B. Reginald Fessenden
C. Samuel F B Morse D. Lee De Forest
13. Now the largest software company is ;
A. IBM B. Microsoft C. Apple D. Pentium
14. When computer was first invented, it was mainly meant for
A. calculating B. word processing C. communication D. designing
15. Pony Express System was a system of using riders and horses to in the

Wild west in mid-19th century.
A. compete B. entertain people

C. transmit messages D. gamble

1. € 2. D 3. B 4. A 5. A 6. B 7. A 8. B 9. C 10. D
11.D 12.C 13.B 14.A 15.C
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10.

11.

12.

Test 5

Among the Whites, the most powerful and influential group is the White

who are descendents of the early English settlers.

A. Anglo Saxon Catholics B. Anglo Saxon Christian people
C. Anglo Saxon Protestants D. Anglo Saxon people
. The most numerous minority in the U.S. is the
A. yellow people B. black people
C. Indian people D. European people
. The first blacks arrived in in 1619 as indentured servants.
A. Jamestown B. Boston
C. New York D. Lexington
. Hispanics are the —speaking immigrants.
A. French B. Latin
C. German D. Spanish
. In an interview in 1876, an interviewer said that four fifths of the work in the cons-
truction of the railroad from California to Ogden was done by laborers.
A. Chinese B. Vietnamese C. Japanese D. Korean
. Labor Day is observed as a legal holiday on the in September throughout the
United States.
A. first Friday B. second Friday
C. first Monday D. second Monday

. In 1914, President Woodrow Wilson signed into law a U.S. House of Representatives

resolution, introduced at Jarvis’ request, making the second Sunday in the

national Mother’s Day.

A. May B. June C. July D. August
. The American National Teacher Day is the of the first full week of May.
A. Sunday B. Saturday C. Tuesday D. Monday
. The Thanksgiving Day dates back to , the year after the Puritans arrived in
Plymouth, Massachusetts, determined to practice their dissenting religion without
interference.
A. 1620 B. 1621 C. 1622 D. 1623
The early people of Plymouth were :
A. Puritans from England B. Catholics from England
C. Puritans from Holland D. Catholics from Holland
The scandal drove Richard Nixon out of office.
A. drug abuse B. extortion C. Watergate affair D. sex

As a metaphor for American diversity, the melting pot was first discredited after
when the European immigrants streaming into American cities formed
distinct ethnic and national enclaves that didn’t melt together.
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13.

14.

15.

A. World War [ B. World War [l C. the Depression D. the Civil War

The , whose charter specially prohibits it from surveillance over the
domestic population, had infiltrated the civil rights and antiwar movement.

A. FBI B. CIA C. Supreme Court D. Congress
Members of racial minority groups have a disproportionately rate of
arrests.

A. steady B. same C. lower D. higher

Since 1619, within a few decades, a massive slave trade transported some

Africans to America.
A. 400,000 B. 40,000 C. 4,000 D. 400

1
11

., 2. B 3. A 4. D 5. A 6. C 7. A 8. C 9. B 10. A
.C 12.A 13.B 14.D 15. A
Test 6
is the capital of Canada.
A. Vancouver B. Ottawa C. Montreal D. York
. In 1497 John Cabot sails to an island off the coast of Canada, names it , and
claims it for the King of England.
A. Newfoundland B. Newland C. New England D. New world
. The territory in and around Quebec City was once a colony called
A. New Germany B. New America C. New France D. New Holland
. The Constitutional Act in , established the division of Upper and Lower

Canada, allowing for the formation of local governments.

A. 1788 B. 1789 C. 1790 D. 1791
. Canada has a population of approximately people.
A. 8 million B. 10 million C. 20 million D. 30 million
. Canada’s largest city is :
A. Toronto B. Ottawa C. Vancouver D. Montreal
. The area of Canada is square kilometers.
A. nine million B. ten million C. eleven million D. twelve million
. Canada is the largest country.
A\ B. second C. third D. fourth
About % of the population is estimated to live within a few hundred

kilometers of the Canadian-American border.
A. 90 B. 80 C.70 D. 60

11



